ActiveTouch — color_change_01HPF - B

BR

A=Y [1]

R=I OATITO+ V)=

R—3 MeStep

#7315 b [HMILAMP] MeStep
A7 T1H b [tank pipe3] DeStep

#7915 b [HMISLIDE1] MeStep
AT T1H b [tank piped] DeStep

AT T1H b [tank pipeb] DeStep
AT I1H b [tank pipe7] DeStep

AT I1H b [tank_pipe5] DeStep
ZFI1H b [tank pipel1] DeStep

A7 15 b [tank pipe2] DeStep
#7315 b [HMISLIDE] MeStep

AT J15 b [HMILAMP 1] MeStep
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ActiveTouch — color_change_01HPF - A'=%"1 [1]

A=91 [1]

HMILAMP 1

R=I QATIIH V)=

(@) HMILAMP

;,i' 7037 41:_Value <== sun.val-1
eStep
@ tank_pipe3

;,f J0/VT4: Value <== tank.data3
eStep
—Tm: HMITITLE
- Tr| HMISLIDE1
_7(;’; 70371 Value ==>tanktemp

ﬂﬁy eStep
—@ tank_pipe4
—g JOJVT4: Value <== tankdata4
ﬂﬁy eStep
@ tank_pipe6

7;’1 70371 Value <== tank.datab
eStep

@ tank_pipe7

7{;’; 7A3 T4 Value <== tankdata7

—@ eStep

@ tank_pipeb

—g J0/VT4: Value <== tank.data5

4@' eStep

—@ tank_pipe1l

#F'l,f 70374 Value <== tankdata
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ActiveTouch — color_change_01HPF - A'=%"1 [1]

|52 A'=%"1 [ID=1]HMILAMP 1:eStep

4@ eStep
@ tank_pipe2

7;’3 70371 Value <== tank.data2

42 A'=Y"1 [ID=1JHMILAMP 1:Step
eStep

—Tir| HMISLIDE

\—@ eStep

HMILAMP1

':;,f 7A)371: Value <== tankval

eStep

NR—Y MeStep [1 AV FTET]
2R ML)
LR if.EventID==0)

— R—30penk¥ : #] A4t A1
|—= tank.data =0
tank.data2 =0
tank.data3 =0
tank.data4 =0
tank.datab = 0
tank.data6 = 0
tank.data7 =0

A7 Y15 b [HMILAMP] DeStep
2R ifEHBL)

[/ 500msBICKIENBEEET S,

ifsun.speed==0)
t Jf BHE2FrUN25msEDT, 500/25-20 &Ly k.

= sun.speed = 20

= sun.cnt = sun.cnt+1
ifsun.cnt%sun.speed==0)
Y RBOREERE.

= sun.val = sun.val%2+1

ZTY1D b [tank pipe3] DeStep
B iREHEL)
\—@ if (tank-data3==0&&tank.data2==384)||tank.data3>0)
if(tank-cnt’%tank.speed==0)
L';!m shift_pipe(tank.data3 , 256)

A7 Y15 b [HMISLIDE1] MeStep
e &G
Lﬁ" RUDADEEEERTET D, (Value 7O T4 DIE)

AT I1H b [tank piped] DeStep
@ iREEHEL)
| ifl(tank datad==08&tank data3==192)|[tank data4>0)
\—@ if(tank-cnt’%tank.speed==0)
\—';!m shift_pipe(tank.data4 , 16)

ZTV1D b [tank pipeb] DeStep
e &L
L ffy if(tank data6==08&tank data5==192)||tank.data6>0)
if(tank-cnt’%tank.speed==0)
\—';!m shift_pipe(tank.data6 , 16)
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ActiveTouch — color_change_01HPF - A'=%"1 [1]

2R HEHBL)

B

ifl (tank-data7==0&&tank.data6==14)||tank.data7>0)
if(tank.cnt’%tank.speed==0)
L';E shift_pipe(tank.data7 , 64)

AT I1H b [tank pipe5] DeStep
@ i &&HFEL)

B

if(tank-data5==0&&tank.data4==14)||tank.data5>0)
iftank-cnt%tank.speed==0)
\—';!m shift_pipe(tank.data5 , 256)

AT I1H b [tank pipel] DeStep
@- i & L)

if(tank.cnt%tank.speed==0)

LL‘EE shift_pipe(tank.data , 512)

AT V1D b [tank pipe2] DeStep
[‘E' i &HFEL)

i

ifl (tank.data2==0&&tank.data==384)||tank.data2>0)
if(tank.cnt%tank.speed==0)
L';!E shift_pipe(tank.data2 , 512)

A7Y15 b [HMISLIDE] MeStep
i ALES 2=

i
M

MM TADEEDFTNDEREERET D,
val = Get_Value()

= tank.speed = 100/.val

Z791H b [HMILAMP 1] MeStep
@. i L)

= tankcnt = tank.cnt+1
ifGHBL)

i SREICED. BYDREI M TROBREEETS
—[ﬁ if(tank.temp<40)

— ff 40°CRIEIHE ()

] SetOnPictureName("¥¥NMisk¥¥color_change 01¥¥BMP¥¥tankl bmp”)

— ] tank_pipe1.SetOnPictureName(”¥¥NfDisk¥¥color_change_01¥¢BMP¥¥pipe_01_on_1bmp”)
LT tank_pipe2.SetOnPictureName(”¥¥NfDisk¥¥color_change_01¥¢BMP¥¥pipe_02_on_1bmp”)

ﬂﬁv elseif(tank.temp<70)

— £ T0°CH(d= (FR)

— vl SetOnPictureName(“¥¥NfDisk¥¥color change_01¥¥BMP¥¥tank2.bmp”)

— vl tank_pipe1.SetOnPictureName(“¥¥NDisk¥¥color_change_01¥¥BMP¥¥pipe_01_on_2bmp”)
LT tank pipe2.SetOnPictureName(”¥¥NfDisk¥¥color_change 01¥¥BMP¥¥pipe_02_on_2bmp”)

4@' else

— /# 40~70°ClErh (%)

] SetOnPictureName("¥¥NfDisk¥¥color_change_01¥¥BMP¥¥tank3bmp”)

T tank pipe1.SetOnPictureName(”¥¥NfDisk¥¥color_change 01¥¥BMP¥¥pipe_01_on_3bmp”)
L4 tank pipe2.SetOnPictureName(”¥¥NfDisk¥¥color_change 01¥¥BMP¥¥pipe_02_on_3bmp”)
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ActiveTouch — color_change 01 HPF - 7—A&-1)YH Y —

TR0 9)—
g (=%
sun
cnt
L2 A'=%"1 [11HMILAMP:(eStep)
speed
L_5:2 A=Y"1 [1THMILAMP(eStep)
val
452 A'=%"1 [1JHMILAMP (eStep)
£2 A=Y1I[1THMILAMP (/71 Value)

ﬁ System

—ﬂ- CurrentPage
{- CurrentTimeSec
—H- FreeMemByte
4& FreeMemory
{- HaveAlarmPopup
—ﬁ- IdleTime

—ﬁ- LogonUser
—ﬁ- StartTimeSec
—ﬂ- StartTimeStr

—ﬂ- SysFreeMemByte
—H- SysFreeMemory

ﬁ tank
—ﬁ- cnt

| 532 A'="1 [11IHMILAMP 1(eStep)

52 A'=Y1 [1]tank pipe1:(eStep)

52 A=Y [1]tank _pipe2:(eStep)

22 A=Y [1]tank_pipe3:(eStep)

22 A=Y [1]tank_pipe4:(eStep)

42 A'=Y"1 [1]tank pipe5:(eStep)

42 A'=Y"1 [1]tank pipe6:(eStep)

L_si2 A'=Y"1 [1]tank pipe7(eStep)

—ﬁ- data

552 A'=Y'1 [1](eStep[M AV FTET]
52 A'=Y'1 [1]tank_pipe1:(eStep)

22 A=Y [1]tank_pipe2:(eStep)

L—gi2 A'=Y"1[1]tank _pipe1:(FA/ 171 _Value)
—H- data2

532 A'="1 [1](eStep[4 AV FTEAT])
552 A'=Y"1 [1]tank pipe2:(eStep)

552 A'=Y"1 [1]tank pipe3:(eStep)

L—g52 A'=Y"1[1]tank_pipe2:(F0/ V74 Value)
—“— data3

552 A'=Y1 [1](eStep[1 A FTREAT])
<2 A=Y [1]tank_pipe3:(eStep)

42 A'=Y"1 [1]tank pipe4:(eStep)

L2 A=Y 1[1]tank_pipe3(F0/{74: Value)
i datad

552 A'=9"1 [1]1{eStep[M AV FTEAT])
552 A'=Y"1 [1]tank pipe4:(eStep)

552 A'=Y"1 [1]tank pipe5:(eStep)

e A=Y 1[1]tank piped(F0O)ST41:_ Value)
—ﬂ- datab

532 A'=Y"1 [1](eStep[4 AV FTEAT])
42 A'=Y"1 [1]tank pipe5(eStep)

542 A'=Y"1 [1]tank pipe6:(eStep)
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ActiveTouch — color_change 01 HPF - 7—A&-1)YH Y —

L_s52 A=Y 1[1]tank_pipe5(F0/ 174 Value)

—ﬁ- data6

552 A'=Y"1 [1](eStep[M AV FTET]

52 A=Y [1]tank_pipe6:(eStep)
22 A=Y [1]tank_pipe7:(eStep)

552 A'=Y"1 [1]tank pipe7(eStep)

52 A'=Y"1 [1:HMISLIDE(eStep)
22 A=Y [1]tank_pipe1:(eStep)
22 A=Y [1]tank_pipe2:(eStep)

522 A=Y 1[1]tank_pipe6:( /{7 4: Value)

—H- data7

|32 A'="1 [1](eStep[4 AV FTEAT])

L_gi2 A'=Y"1[1]tank pipe7(FO/ 171 Value)

—ﬁ- speed

—ﬁ- temp

—H- val

Test

7 GIO

\—{3. GIO , grp
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,
{- GIO,

grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
grp,
, Output

grp

grp,
grp,
, OutputBIT2

grp

grp,
grp,
grp,
grp,
grp,
, TotalMemorySize

grp

grp,
grp,

42 A'=Y"1 [1]tank pipe3:(eStep)
42 A'=Y"1 [1]tank pipe4:(eStep)
552 A'=Y"1 [1]tank pipe5:(eStep)
552 A'=Y"1 [1]tank pipe6:(eStep)
L2 A=Y [1]tank_pipe7(eStep)

22 A'=Y"1 [1:HMILAMP 1(eStep)
g2 A=Y 1[11HMISLIDE1(F0/$74: Value)

Lg22 A=Y 1[1IHMILAMP 1:(7F 0/ 37 4: Value)

Result
UnitSerialNum

BackLight
bedside.LED_Green
bedside.LED_Red
bedside PhoneSensor
bedside.SvcCall
bedside.SvcCall_LED
FreeMemorySize
FreeNFDiskSize
FreeObjectStoreSize
Input

InputBITO

Input.BIT1

Input.BIT2

IPAddress
MacAddress

OutputBITO
OutputBIT1

Reboot

RebootBITO
Reboot.BIT1
RebootBIT4

SystemVersion

TotalNFDiskSize
TotalObjectStoreSize
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eStep - Y TIL—FV

HJIL—F  [shift_pipe]
m’* shift_pipe(.data, .max)///) 1 JHNDEEZE T T3,
\_@ i G&12L)
ﬂﬁv ifl.data==0)
L= .data =1
elseifl.data<6)
L= .data =.data+2+(.data/2%2)
{13 elseifl.data<6)
L= .data =.data+2
else
L = .data = (.data*2)%max
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